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Wﬂbnﬁfm-wmmmmml
Wﬁmm‘—wﬁmﬂtl All the questions are compulsory
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Write the answer to each question in the given answer-book only

m-wﬁﬁfxﬁaﬁaﬁwﬁwmﬂﬁ’!ﬁfﬂﬁﬁ "t;;i&a'w*mﬁﬁ“ﬂm{“
[I_thf:.n: IS any error / difference / contradiction in Hindi & Engish versiondihe question paper. the question of the
Hindi version should be treated valid. /rﬁ
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(a) HSTT Wamy {,'unsen'atmnuix'ffncr;.-_x ib e g Conservatic of Charge

() IRTR&T RIS Conservation of
Mo R FEAE - What is Shunt -
(2) S A ARRIY  High value Resistance (b) I AFARANY  Low valucResistance
(C)TTATTR Thin Wire AT () STHABEFE None of these
ﬁmﬁ&ﬂlﬁﬁ'ﬁi“ﬂ!ﬂﬁlm? M&xwell is the unit of which physical ghantity - I

Jurrent #Yd) A ABE T8 Noneofthese
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(a)9RE . a1 79 Induced 'M.F. (h) gra® g Harey Magnttic Flux

(¢) g ta For Magnetigfnergy (d) STHABEAE Nowe of these
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@F x B (b) E x T @Bxit /() SERBETE None ofthese
e g1 o) e 40 . & 59 wrdw g Bl
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(a)+20¢cm (b)-20cm fc)-4lcm , (ch) Eﬁﬁﬂmqﬁ None of these

T srebran oY ftaren fven it wifd o Prfr el 2.
Intensity uf"ch’it::rud light depends on which quantity -

(a) TR )‘fux'-:lcnglh ()T Velocity  (c)3mafd F
10 Ace A ARG saiae A vag G-arel avrded =
Find the De-broglie wavelength related to the electron ac elerated by 10" volt. 1

f ; .
(a) 1.23A (b) 0.123A [ci/'.i.fllﬂ A (d) FTHABE TE None of these
TRt R TEaE?  Whatis mobility ? / 1

ufagy &1 ufRgfera faa fafe? Write ampere! 1
cam A fafaa?  Write Lenz Law? I
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|
quency  (d) ITHABIEFE None of these

circuital law ?
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fareft errq @ o/ d B A T A & ? Whatis work function of a metal ?
witfore e fra Fed e ? Whatis logic gate ?
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c.m” acharge -2x10°C is placed near the plate, what will be the value of the electric force on the charge? 2
mm&gﬁﬁﬁﬂ#mg@gﬂml e
Write any four main properties of clecimﬂaticsul'cundm{torﬁ. Vit ladis
g A wea .Wﬂﬁwﬁﬁﬁﬂmﬁmmquﬂﬂwf?t . LA

i ! ive the : paralle] ¢ at fany two electric cell 2 ] Vs
What is electric cell, Derive the formula for the paralle] combination o \
YEPIS HIST B T4 AT Ud A e B Refta sifaymfea 89 H-atreh iﬂﬁﬁm_ g
Write demerits of Rutherford Model give De-broglie explanation of the second postulate of Bohr model?
% 1 -SCNbe the structure and uses of nuclear reaction ?
IRHTY & B A TSGR AU Describe the structure an
mmmmmﬁ?m$wﬁm$m$ﬁ-mmaﬁmaﬁﬁmi
What is interference of light ? Describe young's double slit experiment for observing th
HUE-|{ (Section-C') . ‘
mﬂmmtmwﬁfnﬁ?@mwmﬁmhﬂaﬁmﬁmmﬂnmtﬁ

Whatis acyclotron, on which principle
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e Fifom?
arcoil at a point |
| 4+2=3
uamﬁuma‘-ﬂﬂmmlﬁnﬂqﬁ ¥ 5= @ wea weaey i Fifore va softag | p ufRue & B
mﬁﬂmﬂmHmajm BT ? ) the root mean I
square and peak value ul'ull.un'uﬂtﬂg current and draw a phaser diagramof aseries LOR circun \m-?I also derive
tormula of impedance ? . .
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Live analytical Explanation of 1 ¢ oscillation inan
i circuit ?

it works, write its working and two limitation ?
HqHu@ O

T & e foafR e e g sarerard @l b v ST gt & w1 o
Write Bio-Savart's law and derive the expression for the magnetic ficld produced by a circul
on s axis 7

I the relationship betw e

alternating current cireunt and explain the wartless ey rent
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I 1
ﬁ?q!f:! Jf 1“‘"{{“1-:] 'ﬂﬂﬁ'ﬂaﬂm? |
Establish the formula %‘J,;."gﬂl for the reflection of hght on a sphericg surface and then establish the
formula Ti. (a-1) H"ﬂl.',] forathin lens? I Yot Vpm ‘
Hu@ O
I e B a=me o avi i s T ST 219N B I e o o g el g
wfifawa a9 1 v 3 g
Describe the structure of 3 -.'umpuundml-::nm-np-:.dmrwlhc HOFMIS IO IS total manify i e o erand draw a ray
dmgrmtmithcmmgu formed by tl'n:cumpnundmmmcu -1} | Va1 +04=3
- 39 g &1 1 farfar mmm:.wﬁm;rma # MTavaE gfdgey S IEE
T fbmfafy &) e Fifom ?
Write the name of the device which is used as « voltage regulator and alo explam its mechanism by drawing
nucusean'-.'ln.-um.imgmm 7 | 4141=3
) M ()
f&gawﬁqump-nﬂﬁ: SHTE 3 an.‘mnﬁtemﬁaﬁﬁﬂrrfdﬁj THHTET W & simavas avareg )
Hmﬂﬁ#:ﬁﬁmamﬁﬂaﬁﬂaﬁmmﬁaﬂﬁﬁm?
Explain the working of half waye rectifier of pN lunction
: > : bibad. ) - diode by making an clectric circuit Also, with the
hL|[‘iL‘lrlh:5¢hIi1h]IShiiI!'L‘lﬂilﬂnﬁl'll[‘llhd“'cuﬂIhq.'}il[‘rlil voliage and output voltage 2+1=3 '}q
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wheiiar & ferg frder
( General instruction to the examinees )
(1) Wit wer v wew P £
All the questions are compulsory.

(2) e o1 mwies wo v ww aifrarda: ford
Student should write his Roll No. on the question paper.

@UE-31 (Section-A)
mﬁw1ﬁ1sﬁm1-1 ai'uEHwT%IQuestiunNo.ltolSeachlmar ¢
L THEEH A Tielta S & i o favd (v) 7 @ o) ® i g

@) Vear (b)V=constantV=ﬁ‘~l?rr_./
1 1 7
©F Sy mEs=_ | ;

3. ot poseht # fagn A w5 % w0 % fore Heg g o -

To induce E.M.F. in coil, magnetic flux associated with coil -
(a) weT =feq should decrease
(b) ¥z a1 & a1 9% Wera & may be increase or decrease

(c) fraa @7 =1z ¢ should remain constant

(d) s € ifew should increase
wi R
—— /&1 913% € - The unit — of is -
co co
/(‘h/) 3 ohm (b) = Mho
/" (c)are Volt (d) TR Ampere N
| T HAR R Waiftr @ €t € - The waves associated with tele-communication is -
(a) 7% Intra Red (b) 3¥a v visible

(c) §& A micro waves (d) s Y ultra violet waves
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(2]

I o ® ufEd gt # - The power of convex lens is -
(b) ¥ positive

(a) FMHSF negative
(d) F1eSF e imaginary

(c) T3 zero
T ﬂ'q?q F1 FE S Bt ‘FQEE‘-‘I H it & - Which series of hydrogen spectrum exist in visible region -
(a) ¥ lymann (b) a™R baxmer
(¢) 9I¥¥ paschen (d) VS pfunt

fsit wfirs = !ﬁ'-gﬁmam qe Sl gwifdt € - The binding energy per nucleon of nucleus indicate -

(a) 35 wnfye jts stability (b) 38F FFR Fits size
() 39% T=79m A its mass (d) 394 # § #1¢ e none of above

fa i % g &= Fillin the blanks -
K31 b -
charge.

9.

10.

13,

=T uo i & sew
& ﬁﬁq Write answer of following questions -

14.
15.
16.

17.

18.

o forgm st st e
Charpsw................... o8
it L

The direction of electric dipole is from ..........c................

aﬁﬁmmﬁmmaﬁﬁaﬁﬁsﬁwaﬁﬁmﬁmﬁwmm

is the machine that accelerate charge particle and ions for high energy.

S Wil SFTER Fl € | Current carrying loop behaves like magnetic ..............ccovevevenn..
in nature.

RASILES CA- 0o S
I I T FHH ... .... BTdlt € | Electromagnetic waves are
Stk &% gf TR faga WIS &1 BIa1 % | Photoelectric effect is not observed below

! g & % 1ef Bt LU ferrerand feral | write any two characteristics of material to make permanent magnet
&3 Hsw & fdta aﬁﬂ?ﬂ 1 %Y ol | Write statement of second postulate of Bohr’s model.
fersit et ufaea aw =1 47 10~ 9faay & 3ge! 31 g T 9H I 7 |

The decay constant of radioactive element is 10~ per year. Find out its half life.

m%f‘gsﬂﬁmﬁsﬁﬁﬁ%aﬁaaﬂqﬂozsméwﬁaﬁ‘{ﬁMm%lﬂf’q’%ﬁﬂﬁﬁlﬁ'ﬂh’fﬁﬁﬁﬁﬁﬁ

g{1.2 cm @ A 9 T *1 a7 3¢ 7@ Hag )
In young’s double slit experiment distance between slits is 0.28 mm distance of screen from slits is 1.4 m. If distance of forth

bright fringe from central fringe is 1.2 cm then find out wavelength of incident waves
et =reren o fora wilfae UMM Pa Q& AM Fw¥1: 4Q2 924X 10* Q~ T AIcis I @ieg Teh =IYUE S WPAQ ¥

91 | G B | _
For the conductor the value of physical quantity P and Q is 4 Q&24x10°Qmm respetively. On making length of conductor
5x2=10

one forth find out new value of P& Q
@Us-d (Section-B)

9T G@AT 19 @ 23 A Ueh 2-2 3% &1 & | Question No. 19 to 23 each 2 marks
3YaTE A7 ¥ YR R 309 & Fram 1 TR J = o F e 1|

On the basis of drift velocity derive ohm’s law as equation J = g F
T A o HY YRIaTE e aR Q TEEd {8y W T WO H S W 1) |
Derive formula for magnetic field ( E ) at distance (L) 7 froma infinitely long current carrying wire

GUD-(X11)- st /1600
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2.

mmﬁma‘rﬁﬂm\!h& R=6Q 70 X, =8 ¥ & v 1or
fﬁlﬂ y Iiedi5220wltina.cciﬁ:uitfm‘ll‘ﬁﬂ & X, =80) ﬁ“d"“tpowercocmcim T[T 1 QY -
lfw;ﬂmﬁmmmwﬂl Derive Snell's law using Hygen’s Pﬁncil;le
;ﬂ:mmaﬁmm%ﬁmtmmmﬂqﬂﬂmm?mﬂﬁm‘
reason. Why photo Rlecays effect cannot explained by using wave principle of light ?

Give sy ™ TWIE-H (Section-C)

dem 24 H26TE s 4 3t W1 ¥ | Question No. 24 0 26 each 4 marks.
™ Waﬁﬁq.@:maﬂﬁﬁﬁmm*mwhmmm 3x4=12
e & FR ® W T A Sverears T

. | {aw. Derive formula of electric field due to a unif ! 142+1=4
) Wﬂtofﬁauss's aw. ve auniformly s e

i .. field and distane (r). surface and draw

Agar/OR

fore o0 mﬁuﬁwﬁf@a|wmuﬁr%maﬁm?ﬁqﬁw¢mmﬁmm T

A HiC a4 T

Define electric dipole moment. Is it vector or scale

@mawm%?ﬁgmgwﬁmwmﬁmﬁmmm%mmmm
aﬁurg@mﬁw%mmwﬁmn

compound microscope? Draw shematic diagram for normal arrangement of comporind microscope

f compound microscope.
Agar/OR

1 & amaﬂﬁaﬁmmqmﬁéfﬁm#ﬁqwﬁamm,wﬁ% e 9o fi B T e s

Fife | S TE = |
prism. Derive relation between minimum angle of deviation, refractive index and prism angle for thin prism.

r? Derive formula of electric field on the equitoria of electric dipole

What do you mean by
Derive formula of magnifying power 0

Explain refraction by
Draw required graph.
(i) arzeh s A W%?P-N@ﬁﬁmﬁmﬁmﬁmﬁaﬁmaﬁ

(ii) P-N §ft F SaEE T T =K 1 4m wd e favwa 0.7 voltﬁ?hﬁﬁmmﬁqaﬁimﬂl

(i) What is external semi condutor? Describe process occuring during formation of junction.
(ii) The width of depletion layer is lum, If potential barrier is 0.7 volt find out electric field across junction.
rgar/OR

mﬁm%mmmaﬁwﬁﬁﬂm-mwmm'
What is rectifier? Describe working of half wave rectifier. Draw necessary diagram
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39 (Directions) (i) ¥ ¥e7 wed afygd € (All questions are compulsory)
) ) yeE @ 3% IS wEA g 2

! (Marks of all the questions are written in front of them.

EUS—3] (SECTION-A)

g aaw & ®RY GEfeE o @ gl 2f-

1
() IAATER @) ™ @ TR (7)) *E T8

The shape of equipotential surface due to a point charge will be-

(a) Cylindrical (b) Cuboid (c) Spherical (d) None

faera enfRan &1 si AFS® 8- 1
@) o & TR (6) qEme (&) WIS ~
SI unit of electrical capacitance will be- '

(a) Pascal (b) Ampere (c) Coulomb  (d) Farad

T2 @Td iR BT A1 22 x10°+ 5% 3 & O 3HD TUH & BT T B 1
(1)  FAER (@ @ A @

17 value of carbon resistor is 22 x10?+ 5% €2 then colour of its first band will be-

(a) Gold (b) Red (c) Yellow  (d) Green

e Red &5 TR W FATRA BT TGS AT HEA 8-
@)  uftRwea @) 9 (@) % '@ () wRrefea
The drift velocity per unit electric field is known as-

(a) Resistivity (p) Conductivity  (c) Current density (d) Mobility

= d  wrdfye e - 1
(@) AND @ OrR &)~ NOR (Z)MNOT

The universal gaet in following is-

(a) AND (b) OR (c) NOR (d) NOT

FIHY HAdw J IRadw H ) WRa Rga %8s 7@ @ R @ waw a8d 2| 7= Bow
e - 1
@ agwm @ TR @) &) B

The rat of change in magnetic flux is equal to the magnitude of iduced emf This law s given by-
(a) Lentz (b) Ampere (C)

Hen d) Ferad
R R gt o e s o e " :
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(iii) =1 4 ] s1g=m:
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(x) mqﬁﬁmwmiﬁm%%mﬂﬁﬂmaﬁﬂﬁmmh
The binding energy per nucleon will be maximum for the nucleys:
(A) MU (B) {H (€) {0 (D) Fe
> et TR WA Fill in the blanks ( i-viii ) ( W& Each % 37 mark )
(i) Twae oo st aehar e ,

Radius of curvature of simple mirror is
(i) ETEeYer T F Frefar Sl &l | getagi 1 HIord Ja . g

The angular momentum of electron in lowest energy state is ...
(iii) OFQ HI &N BT S.L HTF ..ooveer.. BTA T |

SI unit of power of lens s .coesee -
(iv) faga s Sags : .. -;-ﬁma.’lﬁr%‘-t In
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12.

: , Vatrl=1'A
Define work function. The thre should wavelength for a metal is
0020 A calculate work function.

fearefoea 4 foermi aur ard g FeEy e wifa) (v
Establish relation between half life and radioacti ve decay constant.

1 & Frm feafaw | & 13 fag & wr 1 0 9/ fafian) 14
Write Kirchhoff's Loop rule. In the given diagram write the valuf:
of current |,

A




(4)
sity due to an electric dipole at a
electric dipole.
. et Ag 50
savas q3
Write the method to determine 1
meter bridge and derive necessary
2 fafiere w3 o g & A qnﬂ

AT |

Derive an expression for frir
experiment. Draw necet S
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31 aiftfes T Half Yearly Examination - 2022-23
I oo : itferes fargrar (Physics)
Time : 3.15hrs @& Class : X1 (aRgdt) guifes MM : 40

™
m$%§mﬁéw : GENERALINSTRUCTIONSTO THE EXAMINEES :

1.

2:
3.

4,

zq'q‘wqm"t&mﬂum - R 1G] AT 3 T |
-andidate myst be write their Roll No. on the question paper.
¥ 21 Allthe questions are compulsory,

\;v“aﬂ‘?“m ST 1 e gt o d ford |
ntet 1b answcrto each question in the wen answcr-book only.
R4 3 arael ot gl%/em?/faﬁwmaﬁ R fa=dl

Wﬂ%maﬁé’mﬁ qH| Ifthelc isany crmrf d:ffer;nce / contradiction in Hindi & Engish
version of the question paper. the question of the Hindi version should be treated valid.

ﬂﬁaﬂiﬁq?ﬁm Multiple Choice Questions - '
Wﬁmmwmﬂﬁﬂﬂm% Helmholtz Coils are used— 1

(@) BRI AT HGEH  [n magnetic field measurement

(b) FRfauRIBHAMSTa A To find the direction of electric curent

(c) U A JEDII & STU=IHIAH  To produce a uniform magnetic field
(d) g ERIAMAH  Inelectric current measurement

T e B el feg T ey &y e - |

The electric field at any point on the equipotential surface is - 1
(a) Wiﬁ'ﬂ#ﬁ’t? Parellel to the surface

() Beraas  Perpendicularto the surface
(c)ﬂ'ﬁ'\qtls PIOTIR 45 anglew1ththesurface d)Tﬂ'ﬁ'ﬂﬁWﬂ Allofthese

STepTe] Y TPl GTgoTee el & A el X1 & Ieiet RIegT= o G 11 el -

Which of the following light phenomena confirms the transverse nature of light ? 1

‘() ST HTURTE Reflectionof light (b) 5rel I fdge Diffraction of light

(c) IBTI BT AUl Polerisation of light (d) srepre1 1 fagur Disperson of light

TG e SR AR B SrguT B e T 4 § fw i @
HISI$ @ GHF RN - The unit of tha ratio of magnetic flux and resistance will
be the same as the unit of which of the following quantities. 1

()Ml Charge (b) fa¥ar=iR Potential difference

(c)°mT Current (d) g@ﬂﬁ'ﬂ&’lﬁ magnetic field
¥ e 1 TR a1 e OTih b1 A1 §Tefl ©-
1

Value of power coefficient of net inductance or capacitance -

(a)TF One (b)m  (c)¥H Zero (d)IFaA AP Greater than zero
% FATCH G (n) vd aR Hel bl B (1) ) i fa ffRar gt &

The principle quantum number (n) and the radius of Bohr's orbits (r,) have the
1

following dependence - |
(a) r,oc n'’ (b)r,oc 0’ (c)r,oc n"” (d)r,oc n
ﬁaﬁwaﬁqﬁﬁﬁm Fill in the blanks -

i & A A G ... PIARM |

Binding energy pernucleonin nucleus Shows ..........e...
$.9.3.
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14.

15.

16.

17.

18.

19.

20.
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22,

(2) "
L getm Rgast daRaffa ey,
mﬁ?ﬁmmﬁg ......... (o clectric encrgy.
ikl |

. energy in
g[ggliﬁﬂ QQHI . - El " l ............... (& V 3
1 *
gy of hydrogen ALOM IS covaveeesenes cV.
amadt YT L oenensesssds Qg
(OX
]

o idon VOIMECICT IS covvvasnineeees
< ecistanee of an idea vo
e e L R A TIE |

QAR AT TP .
at curic temperature beCOmMES.coeweveee. ’ ;

: “tic material
‘erromagnetic malc : :
I guq Very shortanswer type questions

mﬁﬂﬁéﬁmaﬁﬂﬁwmﬁwﬁmﬁl
1

aw in vector form.

ress Bio-Savart's |
gm%mwmﬁﬁ? V=200V2 sin100xt
maﬁmaﬂmmﬂqﬁr feran | |
Following is the equation of an alternating voltage- V=200 J2 sin100nt
iteitsdl frequency. '
Write its square mean root value and - _
uaaﬂﬁwﬁaﬂaﬁaéwﬁﬁﬁﬁaﬁﬁ?ﬁ?mmmm%

What physical quantities affect the width of young's fringes ?

STz=adI A STl fargra SHIBROT forfag |

Write Einstein's photoelectric equation. _ 1
- PARIE? X — oty AMGHA H y B I HHID G201 S
Heggarsd | What is an aplha particles ? X" — oc+y Give the atomic

number and mass number ofy in the reaction. I
CTERIRTCHD 43 .Shoﬁ answer type guestions ol 10uF|__Q N
forsr & gwifdl 7 WA @ =g P AN & A :I > 30le f
JogenfRer S B | 20N
; r + I

ll

Find the equivalent capacitance of the combination

shown in the figure between the points Pand N. : 2
fasefi aRUr 3 0.1sec. A &RT 5.0A ¥ 0.0A T el 2 af sirra 9Ra fga

a1Ed ae 200V & Tl IRYA A XU BT ITHe DIOTT |

The current in a circuit falls from 5.0A to 0.0A in 0.1 sec. If the averaée induced
emfis 200V, then estimate the self inductance in the circuit. 2
SIS Bl el ferfaq | 81oft R - L- C uRuer # srgireh sraen & qunaread & ?
Write the conditions of resonance. What is meant by state of resonance in a series
R-L-C circuit. - 2
AfeTRYT TE facf 4 1o v diforu | : |

Explain the difference between interference and diffraction.' 2

HYATE TP MUR WA B g s adiawo T o7
(STet iabvetl 1 ATy 1ef ) J =cE W< 3ifSr |

Obtaintl ' T=np
Wi ?chualmn J=cE ofohm'slawonthebasisofdriftvclocity.
¢symbols carry their usual meanings.)
m%wvmmaﬂa’rww 3
2

Write two drawbask of Rutherford's atomic model
XII - Hifd® fas




; a'-
23. : i
write the SI unit of power of lens. Derive lens maker formula .

24.

25.

(3)

ﬁﬂ’fﬂmm Eassy type questions -
sl 1 ST AT folRa | A += (n-1) (4

a= A= l)iR;'fb T Ay |

=D (k- gy
e Or 0

qgad gerae Bl e B 9 BT | Wyww gewa el g iR oo w

ﬁ,—‘m‘a{ﬁ@m l Maﬁmmmwwml '

Descrﬂ?e the‘ Fonstrucﬂon of compound microscope. Draw a ray diagram for the

formation of image by a compound microscope. Drive an expression for its total

1+3=4

Magnification.

e 1 A o | 39! Aeret A S o s @ 99 w9 9 MR

Yt e @ Bl i g o g & 1 2o sra i | sravas fos

I ERIERY Write Gauss's law with its hélp obtain an expression for the

elctric fied at any point due to a uniformly charged linear conductor of infinite
1+2+1=4

length. Draw necessary diagrams also.
) RO 341 Or : .

f%‘gaanqﬂfaﬁqﬁmﬁﬁmﬁgqﬁgaaﬂﬁww%ﬁﬂﬁﬁfgwﬁgam
Y Faara fore §= s HIog | ’

Defining the dipole moment, find the formula for the electric field intensity at any

torial line of an electric dipole. : 1+3=4

point on the equa
%W%ﬁﬂﬁmﬁwmmwsﬁﬂaﬁzﬁmaﬂzs
mﬁm?ﬁﬁm%.l.maﬂaﬁmﬁaﬁﬂiﬁmmmmaﬂﬁm |

Prove that the value of current in a conductor is directly proportional to the drift
rify ohm's law with the help of drift velocity. 4

& 314l Or
(i) fagie @ el | fer@d | - Write both Kirchoff's law.
% a7y aRger forst A SreTa AfR1e S HTAH

velocity of the free electrons. Ve

(ii) Fiex Ag B Ager 3l

S BIoTg |
Find the value of the unknown resistance S in the given circuit diagramin the
‘ 242=4

equilibrium state of the meter bridge.
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Al questions are compulsary.,
Fresfosfeaes aprafoam et @ woe fony
Answer the following multiple cholce question.
Ll vl yes 1 C v ot vl ges @ aeafa wagd
I Coulomb charge Is placed in gaussian surface then electric flex associated with o

] 2
(#) ¢, () d (n) p ()2 #¢e, . )
2. faege foan oy fawr ) |

The dimension of electric potential is,
(A) M'LITAT) (3) IMILITPAT) (1) [MPL7T W’l{/ﬂ Ty )

3. VT v ufma k(v -1uw) |
Resistance of wire is 9 A Craph)
&
! 1. /
(@) fn () o, (W3 (@0 )
A m«ﬂaﬁmmmm”f 1
The resistance IIEJJMI;\ meler is.
(%) 7er0 (%) 106) () o (@) 100 )
g, o werd o v, wgfty area @ e & wad ~
(#) wftrgradfin (%) sy
() ehe e () audan 4 9wt 1R ()

The value of magnetic susceptibility is small and negative then substance 1
(A) Diamagnetic (1) Pernmagnetic

() Ferromagnetic (1) None
A




6.

(9) Sofwemmr ()i W

(/) smunama () wR kK72
Lenz's law is based on. -

(A) Energy conservations (B) Momentum conservation

(C) Charge conservation - (D) Al ()

7.  WeTE 9N TSR0l 1= 10 sinwt @ Irms? 1
An equation ofA.C 1= 10 sinwt then Irms ?

10
(31) 10A ®12a @ FA @0 ()

8. frfisusdud BTN 10 cm B8 swH vida B 1
The focal length of convex lens is 10 cm then its power is.

(a1) 100D () 10D (|€)1D (g) 15D ]

9. RgagePaE @ g ... B¢ E 1
The nature of electro magnetic wave is .............. "

10. 4 ¥ad W S A oA @ e o vew REfadama ¥
When white light pass through prism then. ............. colour light most &Qa’wd\

n. EXmfAEmya..... \J\‘:\' l
Brewster Law is ................. :

12. WA o TS B 9 3R TawY R e ¥ T L TR
An ¢ ismoving around a nuclei then tveas iated with the
electron. -

A TS WA Very short t)rpczqneﬁi'nn a

8. H -wmq%ﬂﬁuﬂﬂﬁ;’@maimﬂ? !
Find out the energy of ';: in second orbit of H- atom ?

14, Yeurafsaad f oo ool deem dar 1
The energy spectrum of B -particle in radio activity?

15, N-WER B S § agasne sn anes vk !
The majority charge carrier in N-type semiconductor.

-3

& &1 g amnfRa & o 1

fardh rgera adon @ Gra amd s R 1w e e R o 8 wifa @)

oy

+ T 1 [r——




T G 1 WA G2 ? .
If upper half part of concave mirror is black painted then what will be the
effect on Intensity of image?

7. & ares A @ e g &3 e aa &2 :
The value of E field at the inside of conducting sphere?

18. A TRA TR T FA WIS e e wsm s w@m?
If the length of wire is doubled then what will the effect on its specific
resistance ? -

0. 1T RARAARG |
Define | Ampere current.

20. LCR qﬁwﬂmﬂﬁqﬁmﬂwﬂaﬁﬂm 1
In LCR formulla of resonating fraquency at resonance is .

Wm questions :-

2. 1emres qﬁtﬂsﬁmﬂ'ﬂ% 15 cmAZY RS 10cm SR B T
Rera ¥ wfafa= & Rafd s S s & ? Iz
An object of height 100 m is placed at the distance of 15 cm from convex lens
of focal length 10 cm then position and height of image willbe 7

) dreRige | fiva S sftrsas Sam A ol ¥ g T Reave @ =
o7 & ? 1z
Ifresultant intensiry is half of max intensity from poleroid then angle with
analyser and polelyseris ?

. NAND gate &1 Wil farg 3l wey wreoht R |

Draw the symbol and path table for "NAND" gate.

. P fra 3 wfenfa o g0, syl Tt Al swwe

Define stopping potential and its dependence on frequency of photon

3 Mwﬁmﬁfﬁﬁmﬁﬂammmm?

Establish the formulla of nuclear deasiny tornuclet”?
H- gy @ R anw Y & aendd s S

Find out the wavelength of second balmer line for H-atom?

. R grea ol @ R e st ofaRa AR




wl

al.

42.

33.

Define “Pyoting vector” for electro magnetic waves,

ol .. vAves 0y wps Ot g1 % o vienralf vira a1 e wa o) 1
Find ot the expression of allermating current for a pure coil connected with
N e sONree,

st ayvedh m waren quite 5 M % dveogad 10 4 e g ol 0
w4 «ufia s s wl) 1%
If current flow in coil is 10 Amp and self inductance of coil is 5 MH, Find
energy stored in coil.

faen A @ g b o ggon wfvim o w7 1%
Find total resistance biw poimt A& B 7

”

faveger fisgn o m e fo-sva o) Svarent s '-_m'i‘i; 3

i

Find out Intensity of 1, - field at the axis of electric dipole ?
oy vy oy e a (et
vrfire dfivfonm |

A

Baplain structure and working/of compound micro scope and establish formula f

of its magnification?

o gy g sk aam m g

&

‘

T e T—

wal [ Or
a1 ufrge 4 w1 o varfon dforg)
Find out the expresfion of Band width is sericy LCR? ¢ J‘_
farseerendy oy W ol tren o oo ufédng wra wh) |
Fined out the fortnulla of internil resistance of cell by potentiometer. g
wam [ O :5

b
=

o e syt @ ford ftren am o fafes srwenst o amng)
bxplain various steps of Hysterious curve for ferromagneltic substance ,

an o firfive et 4 foica sivaged wn aivem o o)

Find out the expression of fringe width in young double slit experiment,
wam [ OR

fasdty srrevety o i v oo vraefvn sea o Sraem wr Arfdrg

Find out expression of magnetic field at the axis of current carrying coll,
S
A

TR TR PUREY TR RNy g TR T ey
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wmr= e :
General Instructions :
(1) wft uvx & wew ifrard ¥ o

All the questions are compulsary.

(2) m—a,uanﬁ;mmmmza@m (4
Each question of Section A, B and C carfy\r&rks 1, 2 and 4 respectively.
(3) W H. 9® 11 ¥ avivhew e 31

There are internal choice in uﬁtiuns 9 to 11.

/ Section-A
(1x10=10 3{=% )
FIHEF ¢ -
() =7 wfd o™
(%) =gz wfd aiee
SI unit of electric field is :
. (A) V-M (B)N/C
(C)N-C (DYN/V
i)y Frer ¥ @ ot w B
B B
() EH_H (@) “ﬂ+H4
B B
() 5 I=H () P‘D+H_ I

F.9.3.



(i)

(iv)

(v)

(vi)

(2]

Which of the following relation is correct.

B
—+Hs=1
(A}',%*':H ® 4,
B
B —+H=-1
() E:hl:H (D) Ho
T o0 Y foyy &

(31) MILT-3p2 (@) MOL2T-3A2
(%) M2LIT-252 S <
Dimensional formula for the coefficient of self inductance is -
(A) MIL2T-3p2 (B) MOL2T-3A-2
(C)M2LIT-24-2 (D) MIL2T24-2

39 e ¥ form HfRe 1 wftrer gy -

(%) 3 (=) f=1

(%) 1= - (®) e w fek
Reactance of capacitor for high frequencies is.

(A) High (B) Low

(C) Zero

(D) Doesn’t depend on frequency
=1 3 3 fery Y frepem &
() e

() X-faoy
(]) uv-firre (?) r-fo
Which of the following waye have the lowest frequency
(A) rays (B) X-rays
(C) uy rays (D) r-rays
o S P g 2 (F: i =ty
(31) p=p (%) p=2
F
F
P=2
ke ) =]






(%) 15,10 M‘NWWMM:I

(|) 7,18 (9)15,7
Nllmhcn_}[‘ (%) 10,15
@15 1o Protons and neutrous in nucleus '+ X are respectively.
(D) 10, 1
W2 0 u | N P TR
Fill in the blanks -

(i) 1A= e, Y
| Tesla= ... Gauss.

(i) O HR AT e, T § 1
Curie temperature of iron is .............. ;

(iiiy WRa fa. aw @ Fi faw ... F AR A TEFR E
'i:he direction of induced emf is determined by ........ law.

(v) 3 feficre vam  oft fer) =) <okl #1 oA 4 : 9 3, a w2 fafeg
1 s 1 UM ........... Gl

In young’s double slit experiment, If the widths of the slits are in the ratio 4 : 9,
then the ratio of intensity of maxima to intensity of minima will be ......... .

(v) IR S SR T ..covvveneee e 1 B B |
The size of a nucleus is of the order of ............ :
(vi) TRATT Wt B Wt O, YR T e % IR B B
Heavy water, graphite etc. are used as ............. in a nuclear reactor.
' @us-v / Section-B
T 3. (i) 12.5%108 SoERI T Fel foha e g 2
(ii) 10C AT H es Y GEAT Az |
(i) What would be the total charge on 12.5x108 es ?
(ii) How many es would be there in 10C charge ?

T¥ 4. T 99 F1 TR W +2q, -5q 341 ~7q T F T AV 39 YHR @ ¥ TR A A
g Frve  FH R ved § 1 AR gu A P RA @ IR R o
T4 Hifere |

Three charges +2q, —5q and —7q are placed on the circumference of a circle in suck
a way that they are located at the vertices of an equilateral triangle. If R is the radi

of the circle, calculate the electric potential at the centre. .
B ' A-66-(XII) Physi



[5)
W 5. ayefren w wvewfrey F sfod woned (wf 4)

What is the difference b/w ammeter and voltmeter (give any 4 difference)

WA 6. {Rfern wl - Mateh :

(1) STt argf Resonant frequency (8) Vicoss
(ii) T[OTErEN T[S Quality factor (b) % LI

1
(iii) 3w W Average power Oy

(iv) ﬁ'ﬁﬁﬂ feufas S Magnetic potential energy  (d) E:.{L
T 7. TS WhIRIOR farae o Sfat §eed |

Explain the difference between Fresnel and Fraunhofer diffraction.
T 8. 331 A TRE & WM F Fel I T0A KL
What is the energy of a photon having wave langth 3.31 A.
@US-H / Section-C
T 9. favamndt &t e @ @ W6 & 5. g 96 | ga &g AevEs uiey fa3
T g¢ Foranfafy g
Explain comparison of emf of two cells by using polentometer with necessary
diagrams. - -
HYar
SferTell % Foft e FARR H9 § A9 F T &2 o o g v & faw e

iy %1 g7 A F e W 30 F 9friy @ wanfed a0 w1 A saRd |
Explain the series and parallel combinations of resistors and derive the formula for

equivalent resistance in each case calculate the current flowing through resistor 30
in given diagram.

o b

A-66-(XII) Physics — %.9.3.




(6]
e 10. g o wwd ¥ 2 vl gt (A i) o weren s wita AR

aen & fog g sgea=t wt)

What is a telescope ? Draw a labelled ray diagram of a raflecting telescope. Derive

a formula for it’s magnification factor.
AFAT/OR

Wﬁmmi?ﬁgmq&mﬁﬁﬁwammnwﬁa
Ot FA1T |

What is a microscope. Explain the construction and working of a compound

microscope with a neat ray diagram.

T srre R wea §2 ol @ feparl =it franfafy auensa | v = &
?

Define ajunction doide. Explain the working of a full wave ractifier. Draw necessary

diagrams.

T 11.

AT/ OR
few T =1 NAND W31 & G &g qeh Wishdn o Feaal |ron 1 Affraio

SHifeTg |

Determine the logic operatione and truth tables for the following combinations of

NAND logic gates.
D_‘ jh o

(A) A ED
(B) A
e B R

000
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ferenf¥all & o s frde— 4
General instructions for students :
1w W 3 e @
All the questions are cdmpulsory.
WY HE 129 15 ¥ erafie faeey ©

There are internal choice in question nog. 12 to 15.

)

3. @ve W G 37 TF T
(31) 1-03 3/4
(9) - 4-11 1Y
(|) 12-14 3
() 15 4
=37
tion-A)
1. (i) Tuey faga & & feqa w —
(%) %o faga aa : (@) Haa
(1) = qE SETev] (&) 7 & 991 7 st
In an uniform electric field electwig; dipole experienge :
(a) only electric force (b) only torqu ]
(c) electric force and 0 (d) Neither electric force nor torque

(it) U 70 9R9y ¥ fagali 4 P * wen g5

Find the equivalent fesis ?Saf a given circuif between 4 and B :
R 3 3R

(%) — (H) 7K (m =
3 3 ' ) 2

(9) 3R
GZ-—-'V\MMM - AMWWWWW——B
RQ Q B Ra

(iii) FHg & 1 AAF o—

(%) 3T (T) (@) wh/m? (7 —;1— _ (9) S9ga gt
m
The unit of magnetic field is :
(a) Tesla(T)  (b) wb/m? )-Ai
m

(d) All of above
(iv) et 9R9g # dezan 1 7 200 V &1 9Rug 5 deed w5y rms A B—

3/4

3/4

The voltage in an AC circuit is 200 V. The rms value of voltage in circuit will be :

P.1.0.



2)

\ H
(F) 200V (!99")‘ 1002V (1) 20042 volt (%) -%Ov
(v) T T Rt a0 5 R 8 £= 63 x 107 V/im & 9 Jrasta 89 8% 7 Shm—
() 5x10°"T (@) 5x%10"T (M 2.1 x10" T (q9) 2.1x10°"T

The electric field in EMW (electromagnetic wave) is £ = 6.3 x [0*” V/m then the value of
magnetic field will be :

@5Sx107" T (b)5x10° T (&) 2.1 =10 ¥ (d)2.1x107"° T
(vi) forga grarta ol w1 wefa et 2 —
(%) e (W) Ty () ifh (%) erpied 7 ey
The nature of electromagnetic waves are -
(a) Longitudinal (b) Transverse "
(c) Mechanical (d) Longitudinal and Transverse
(vii) 1 S T THT H1 G0 F=A o1 76— 3/4
(%) TR %1 y@m (@) &5 %1 W

(M) A IR F @ () 79 QA I T

Which experiment support the wave nature of particle

(a) Faraday’s experiments (b) Hertz’s experiments
(c) Davisson and Germer experiment (d) None of these
(viii) T Af& ?— Donor impurity is : 3/4
(%) Al (@) B (1) In (a) p
2. (i) Huf i o feafos o Sefts 1 <52l & 767 ......... % &9 3 dfaq O 31 34
The electrostatic potential energy of capacitor stored as ........... between the plates and capacitor.
(i) THish AT HT i Mo ..., Feam 2l ; 3/4
Magnetic moment per unit volume is called .......... .
(iii) TSRS i f&omT =t €1 The dimensional formula of self induction s ......... 3/4
(iv) T = SWM W@ 4 a9 rea R 8§ Wy L g B 3/4
The relation between mass number A and radius R of nucleus is ..........
3. (i) < foga & Tand wWeR Hed 796 81 w0 _ 3/4

Two electric field lines never intersect to each other. Why? .

(ii) + 5 uC ferggd By & FRE W10 pCHR F1 10 om T8 7 R =0 3 v T 7 27m1 3/4
Work done to displace a charge 10 uCby a distance 10 cm on equational line of electric dipole of
% 5uC - *

(iii) forga ®RT (/) 991 weRd 9 (v, )W Wy ffaw 3/4
Write the relation between current (/) and drift velocity (¥, ). ' :

(iv) 4 HIE 750 %1 e § 100 W 71 70 | A Frgg w0 et Y W gesh & HE W
g &4 g ‘ 3/4

Find the magnetic field at the centre of coil of radius 4% meter number of turns 100 and current
flow through coil is | A.

(v) A & fram A fo weevr fagra &t e @t 21 3/4
Which conservation law is obeyed by Lenz’s law.
(vi) W% oiftdg aRug # Or 991 diced & Heg FHeAR fRa B 22 3/4

What is phase difference between current and voltage in pure capacitive circuit. PTO



()
H

(vii) ¥ere F1 R @ Write law of Malus. 3/4
(viii) WO AR FE H TR F I -13.6 eV & A g e 6 gerEt e @) 3/4

6.

10.

The energy of hydrogen atom in its ground state is -13.6 ¢V. Determine the energy of electron in
third orbit.

g ues-q
(Section-B)

(i) TRE & W w1 Ry FC Define Gauss's law.

(if) Forg o131 % R 8 W forega &t ) <l o1 T s i) v+ 1=1Y

Find the expression for electric field intensity due to point charge at r distance.

. (i) 37X ] F'd 8?2 What is ammeter?

(ii) YRS 1 37t H fohe WehR Witeifefal fean s 22 woamew)

How a galvanometer converted into an ammeter. Explain.
T WA & i H W Y=1d F ST grameitern 400 21 SRR & g w9 3
JUFFA Wl A 2 A i R Yefed & 16?1 AR 39 9 | moered B W @ W11 0008 A
(i) =1 &3 (H) (ii) I & i dian
(iii) 1Y & S UM Hif Y+ Y+ =1y
A solenoid has a core of a material with relative permeability 400. The binding of the solenoid

are insulated from the core and carry a current of 2 A. If the no. of turns is 1000 per meter,
calculate

(i) Magnetising Intensity (/) (ii) Intensity of magnetisation (/) (iii) Magnetic field (B)

. e e 9fed i Sited wie w9 @i S i e S ke S

Derive an expression for average power of AG circuit. Define power factor. I+ =1

.wmﬁmmaﬁmﬁqlwmﬁmm%ﬁmwﬁmfﬁml

Y+ =1y
Explain total internal reflection. Write two necessary condition for total internal reflection.

- T Feiarg Foreeht st il 120 €V R, ST (i) ST (i) = (i) S-sreh aerded w2

What is the (i) momentum (ii) speed and (iii) de-Broglie wavelength of an electron with Kinetic
energy of 120 eV. - K+ h+Y=1Yy

TR A ¥ fer <R R & e fifa K+t h=1y

Write the basic postulates of Bohr’s theory of hydrogen atom.

. () M9 w8 § yga Q 63 F AW g

(ii) ZrHAgFTA a4 e A gy fafa !
(i) Write the name of two moderator used in nuclear reactor.
(i1) Write the relation between half life time and decay constant.
wue-d
(Section-C)

9

+
N
{2~ B
+

(i) 7r0 9 %1 qftafd FifS 9 w6 e fafa

Define current density and write its unit,
(ii) T Z<AHg gfeadi % T @Y Write the name of two non-ohmic devices.
. PTA
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I5.

() ’

(iii)ﬁa%ﬁomoaoweﬁiﬂa?ﬂmaﬁqﬁmﬁaﬁﬁm S
Define e.m.f, of cell and terminal voltage of cell. )
HAYGI/OR

(i)mﬂéﬂﬁﬁuﬂaﬁﬁqammmﬁml
(umam'a:ww@nmwmmﬁmm%n

(iii) ferega weetl e farega wifem bt aRefe i

(i) Define drift velocity and write the unit of it. .

(ii) Write the name of two factors on which the resistivity s depends.

(iii) Define electric energy and electric power.

.(i)ﬁﬂ%ﬁﬂﬁzmﬁwﬁﬁwﬁﬁﬁﬁﬁaﬁmmﬁmmmaﬁml

Find an expression for fringe width in Young’s double slit experiment.
(ii) T 1 TG 1.5 €1 i A FbRI i = 4 B2
Refractive index of glass is 1.5. Find the speed of light in glass. 2+1=3
319491/Or
(i) e Tl fareree Sfaed st Sareal HifSie| Explain the diffraction pattern of single slit.
(ii) 5000 A TTREH S THR TH THAR WAdF Y W A Al g1 REd W H:

amafa ehil (i) Light of wavelength 5000 A falls on a plane reflecting surface what is the

frequency of the reflected light? _ :
() T Sve fagT & SMER W el Felleish a1 Se=IeThl i THEY

Explain conductor, insulator and semiconductor on the basis of enrgy and theory.
(ii) STYgredt TEfETET! Y HHHEU N-JhR- 3 STEEIH A1 P-NFR & AHeTh] ol THARU
What is meant by extrinsic semiconductor. Explain N -type and P-type semiconductor.
' 319@1/Or ' 1% +1),=3
(i) IR §, B! SIS A1 WehTeT Iesich SrAIE hl THART
Explain solar cell, photo diode and light emitting diode.
(ii) SR TTIE fRd Ted 87 SR SHIE &1 Wl fas S18T S5 SYERT g 3599 & fau
fenan T @2
What is Zener diode? Draw the symbol of Zener diode. In which purpose Zener diode is used?
@ us-q
(Section-D)
(i) TR T § T < Iacd A6 IR BlhE g0 F1 G wifyd S
Obtain an expression for focal length of a combination of thin lenses in contact.
(ii) <o & o farvat @t o, Sfcfermst @t vaen i g £ Ty wnfyd SR 2424
Find the relation between object distance #, image distance v and focal length f for a mirror.
AY91/OR
(i) FEET fohd Fed 2 A T T 7 B 9w
(if) o9 & fou fa= ::,Hﬁﬁﬁ{ﬁthﬁm{-ﬂ £ Ty T i)
() M bl ol of oy it
€, image distance vand focal length f for lens. @

- L = —
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a4 |
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24, TEEE T (9GT G1ed | YT fus e sus St T | T A
=3 T S elal ferad | 1+1+1=3
25. T=H TSR] SOER TS0 & 55 W 90 TS 4% S IS [ a9 g 81 W
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T ¥ 1Y SEE § U S Ol 1 U] % T SRR 85 %7 S 9

e =
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